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Solving for x (distribution included) Math 9 name:

D Solve the following for x ( reduce your fractions to lowest terms if needed)
a)  23x-7)=56 b)  6(1-4x)=-18 9  4x-5)+15=32
-bx +14 =56 b-24x =19 Y +5 +15=32
-bx = 42 L EERTL -y + 20 =32
[x=-%] X~ Do
d) 4(2x +5)-8=36 f) -7(2x-7) =18 g) 12x + 3(2x+1)=9
Ex+20-3:36 - x+4yq=1¢ ZX+ex +3= 9
$x +12 =30 -4 x = -3 1Ex+3 =19
gx = 24 X = 3\ IFx =6
%3 :
ML 3(x+5)=17 ) -8Bx+1)+24=26 ) 2x+ 8(2x-5)=10

. HWMWW 6%)+ 14(6=5%) = 180=220—"""

-Z2X=~-15=|%
-12X =32

g

~24x -8+ 2426
-24x+le=2b
-24x=lo

[+

1z

-2x +lex-40 = 1O

IYx = 50

X =25
'?—

k)

5(3x -4) +12(2x+ 1) = 18

[SX-20+ 24x+12=19

1) 39x+1) -2(5x+1) =18

23X +3-loXx-2 =%

39x - § - I8 SR S5
39x= 26 oty "
l Xz % | X = |
Extend your skills and strive for excellence! ........ up for a challenge??




